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 0.2r
. F : : :
L0.18F i RERLEAEERRES RRREEELREED
> F : : :
S 016 i [ AR
o TF ; ; :
(8] - .
EO'14-_ """""""""""" AR
© E :
(T SIS S ST ST
V) =28 B { SO SRR LA SRt
0.08F--+|{}-- P N [LRC SRERLTRRS
006 {F]--+ - fe b
0.04F gt:------ * -----------
9 J-»G: 1 11 I! 1 :: II.
g it
11 NdRNH
]_;—-1.—0-» : -4

=
o
iN

1 10

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew5_step?2_ttbar-phasel-newgeom

Efficiency vs ¢

0.05
2]
§.045
2
$0.04
[S]
$9.035
9]
0.03
0.025
0.02
0.015
0.01
0.005

0
15

Ratio

[y

LU L L R AR L R BN LR RSN LRRRN LN RRREE ERRY)

|
w
|
N
|
[N
OFFY=s------p---
=
N
w



	Contents
	Page 1


